
How to calculate probability in Binomail distribution  

( By Calculater): 

Example 1: Binomail distribution n=5 ,p=0.3 ,q=0.7 

                           X ~ Binomail(5,0.3) 

Find  

1)   P(X ≤ 2) =? 

                             ∑ ( 5𝐶𝑥 ∗ (0.3)𝑥2
0 ∗ (0.7)(5−𝑥))           

                             

   ∑ (5 Shift ÷Alpha  )    ∗  (0.3Alpha    )    ∗  0.7(5− Alpha   )  )   2
0       ) 

 

 

 

To write the following in calculator :  

∑                           𝑆ℎ𝑖𝑓𝑡  𝑙𝑜𝑔      
                              
X                                     Alpha   ) 
 
5C2                              5 shift  ÷   2 
 

 

2)   P(X ≥ 3) =? 

                             ∑ ( 5𝐶𝑥 ∗ (0.3)𝑥5
3 ∗ (0.7)(5−𝑥))      =     

                             

   ∑ (5 Shift ÷Alpha  )    ∗  (0.3Alpha    )    ∗  0.7(5− Alpha   )  )   5
3       ) 

 

 


